
The regular price of a pair of sunglasses was , but a store o�ered them on

clearance for . How much money was discounted?32.99S

45.60S

8.40S

60.00S

75.80S 10.25S

2.50S

7.25.S

Linda’s grocery bill was , but she used a coupon worth

did she pay after using the coupon? 

. How much

Ryan withdrew

much money did Ryan receive? 

from an ATM but was charged a transaction fee. How

What is the di�erence between the retail and bulk prices?

A farmer sells a dozen apples for but o�ers them to bulk buyers at2)

1)

4)

5)
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Benjamin purchased a wallet for

price di�erence between the wallet and the keychain?

and a keychain for . What is the3) 54.45S 15.50S
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